TOTD #13
Name:_________________            Date:____________________


	1. What number is the numerator?
3

5
	2. What fraction names the shaded part?


a. ½
b. ¾

c. ¼ 

d. 2
3 
	3. Alfredo had 7 cars. 1/7 of the cars were red and 3/7 were blue. The rest were white. How many were white?

a. 2

b. 3

c. 4

d. 5



	4. Amanda had 82 stickers. She wanted to share the stickers with her 3 friends. ABOUT how many stickers will Amanda and her 3 friends have?

a. 20

b. 30

c. 40

d. 50
	5. Which expression has a difference of ¼ ?
a. 2/4 -1/4= 

b. ¾ -¼=

c.  2/4 + 2/4 = 

d. ½ + ½ =
	6. Keily and Nathaly want to share 12 cookies equally. Which expression shows how they could solve this problem? 
a. 12 ÷ 6

b. 12 x 6
c. 12 ÷ 2

d. 12 x 2



	7. [image: image1.png]XD What multiplication
sentence does the array show?

Fokdkokok
Kook dkokok
Fookok ok ok
Fokkkk

A5X5=25
B.2X5=10
C.4x5=20
D.4X4=16




	8.Which number sentence correctly completes the fact family?
5 x 6= 30    6x 5=30

a. 5÷6=30,  6÷5=30
b. 5 + 6 =11,  6+5=11
c. 30-5=25,  30-6= 24
d. 30÷6=5,  30÷5=6
	9. An apple pie was cut into 10 equal pieces. Justin ate 2 pieces and Luis ate 2 pieces. What decimal stands for the pieces that are left?
a. one and six tenths
b. one and four tenths 

c. six tenths

d. four tenths

	10. Steven made this pattern. 
1, 3, 7, 15, 31

What is the rule for steven’s pattern?

a. Add the number to itself

b. Add the number to itself, plus one

c. Add the number to itself, then add 2

d. Add the number to itself, then multiply by 2

e. 
	Bonus- What is the area of the fence? [image: image2]

	Bonus- Place these in order of shortest to longest.
one mile
one foot
two yards
three inches



